AT YGARAT 8 SR Aeifdened YRR,
el —RSIgR (80710)

AT — oM of & fFafa Qe 3g was=re 31 yeamEe
fava— R greamH (R=d wmw)

Ae— fA=faRaa d 9 f&2 Q1 vbl & SR <Iforg |

b0 1. U3 @ YbR U4 3 uA I fagwand forfay |
H0 2. AN & YRS WHY U YN ST gY I9d! fagmang fofay |
b0 3. a1 Wenfiad! gedi & |fawr qui ST |

fawa— MR yreusm (Fafaver sreays)

Ae— fFfaRad § ¥ fd <1 gl & SR g
%0 1. uRRef® T3 @ gREm, yeR 9 GIEET & quid HIRY |
Explain the definition, types and structure of Ecosystem.

%0 2. o= @1 aofa IR (@1 02)
(@) @rga sEen (@) wRRefe fufys (&) Sl yars
Explain the following.(Any Two)
(a) Food chain (b) Ecological pyramid (c) Energy flow

U0 3. IR GO 91 87 $Hd PHRY 9 farer w ey fofag |

What is Air pollution? Write an Essay on its causes and preventions.



Ae—

Q.1

Q.2

Q.3

favg— IR yreumH (@iUSl HI)

frfofaa o @ 5= Q1 Ul & IR AR

Write an essay on any one.

(a) Science

(b)Pollution

(c) Power of Yoga

(d) Computer Education in India

Write a short story on any one.

(a) Vedic literature

(b) Discipline

(c) Advantage of green trees
(d) The Hindu Trinity

Answar the questions (any five)

(a) How do the trees sing?

(b) Mention three sacrificial fires?

(c) What will happen if the trees are not taken care of?
(d) In what does the cultural heritage of India lie?

(e) Who were called the extremists?

(f) Why does poet campare reason with stream?
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fvg— =) wfe
Ale— S g A § oy v 9 g F 9§ 5 @ yE @ SR Qo |

W UE A
(= =<t @ren)

[0 1. PER TRI B GHNST GRS W9 Bl JoiF BT |
Y0 2. UGHIET & AR R AT &1 favg aoi folag |
Y0 3. oI @1 Afd A1a W B |

e weq w3
(R~ Porr wifzw)

g0 1 2= Pl &1 Sgua iR e fafey |
Y0 2 PEMI B dodl P AR UR BB Bl DI FHIET DI |
Y0 3 PATHR ‘SU A1 AT & Afdded Hiced IR Ybra SIfery |

L



fawa— erhfoare
Ale— Y% 9 3 A Ry T AF g F @ 5 Q) v @ saw A
YU Y U3
0 1. ST fasi &1 aref, afTsT qem &= & fad=en SHifeg?

90 2. UST B IART & GeY § Bfeq,clid aAT wEl & GrIoTe aesiar Righd
P fada=r Hifvrg?

g0 3. 3T & awryan figia @t sceraTerd favevor aifdmg?

fgdg ue= vz

%0 1 WRdE G # aftfa Hifcre afert @ faagar Hifv?
W0 2 WRA ® Ugufa @ wfddal g arafde Refy @ R SIfe?
Y0 3 WRGIY {died <A & TS AT SEaR B A= HIrg?
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fawg— gHISTIT
Ae— e e o | Ry 1 & g 4 4 <y @ SR AR |
TR U¥ U
Y0 1. gHTSl @ uRwmyT forfed vd swa! fagivarsi o1 avie Hifrd?

w0 2. AT vg G &1 gRumr faRed ved afafa ga dwem 4 siav W
P’

Y0 3. ATHINS B0 o1 & U9 ST MR &I fada=1 Hifsrd |

fa<ig ueq =

H0 1 3MMH FawRT W o faRad?
Yo 2 WYa IRAR o gR¥mT 37 Y sHS favarel @t fawgd fadeem Bifor?
50 3 YR T 87 3D HRUN UG §R B @ Ul Bl faden Pifora?
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fawa— sfoera
e S ¥ 93 A Ry ¢ 9 g d @ B Q) ywE @ o A
TN UE 93
[0 1. UTEH ARG e & qRdrfcad Sl Bl gl BIfo |
%0 2. Riper & ARAN A Td IHS WIRA W §Y YA BT auie HIFY |
90 3. BRINNIG & AUl W JHe Siferd? 9 fawr & wwsinsd |

fed ueq o=

0 1 XY H IMIAF JT & AR AT IHD! Y@ fawwansii &1 qoie IV |
b0 2 3ireifie wifed & HRON Td YH@ YNTEl BT Guie DIfoTg |
[0 3 i Pl Ieg HIf<d & IS gd e BRuil H1 qoiF PIfoig |

=—XX—



arpfsrea Paper 1

frraforRaa geat # 9 58 < yeal @ sor §fg| (Attempt Any Two Questions)

Y201

93102

U103

URA—-01

R+ -02
9?-1—03

refeTEs T 27 W @) olld @ YHR UG diAd g @) fafae
ORI Pl AHSTSY?

e & fdwa ¥ @1 wws 2 TM @ yfiwa @ fafi faemi
@1 Afea Ran B |

HAETE] AR | T A 27 Ul Adherad ai fafi=
Seall &7 quie FIRY |

arfesres Paper 2

TIGHT NT AT 27 $HD GSH Ud BT & Teira-cdd ARl
BIfSY |

ARA § aaqH e R sried o iR | aren S |
Ienfre NifT | g @ s 2?7 9¥ 1991 @) 3ienfie g @
g fagivansi @l arcirancHs GHE ST |




